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{ Example 2 )

Vertex Fem

Write the quadratic equation x> + 4x + 1 in the form (x — p)*> + ¢ and hence,

(i) find the minimum point and minimum value of x?> + 4x + 1

(ii)(&glv? the equation x? + 4x + 1 = 0, leaving your answer in
(€3
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surd form.

X +4x+]
XZ+4x +4 =4 +I
(X +2)t -2

min - (=2,-3)

Xt+4x+l =0
(x+1)"‘_|_—'$ =0
(x+2) =%
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64) Express 2x* — 12x + 7 in the form a(x — b)* + c.

L) Whets  the win pE

(G poue Sdue Bhow
W’r&lon =0

(atio)*= ‘,‘;“2""’ ’ﬁ:
e I

= -1 b*=19
(x)T= X*-bx +1

Solue

©) 2x*— 12x +7
2[x*- &x +2]
2[X*-ex +9-9 +2%]
2 (x-3) -47]
2 (x-3)* -n
(D) Min . pt. (3,—")
(i)  Ix=12x +3=0
2(x-3) =1l =0
2(x-3)" =
(x-3)"= %
x-3 = {0~
X = 2+,
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